=ZZMUEH AEHNY XMl ASs=2

<d &>180,000& x 5&-<J1&>180,000& x 2.5&

=EZAMUH I wdE 22l

<& &>240,000& x 12%=-<J| &>120,000& x 12%

A HAME D101 BAHI(GCS 504)
< H>400,0008 x 501-<J| &>200,000 x 5CH

MESAFA(NI-63) AR Y 242

<E &E>220,000 % 2LH-<J| &E>110,000& x 2CH

ne
OI
0%

12
rr
MHo
oY
>_
N
(i

=
=

HT

=}
=

A
0
04
v

12,000& x 21090 -<21 E>12,000& x 1254

2+ (700) AreiH] (710) HiHlg ME : (711) 223 4| = @ (201) LErE ] ool HA)
P =|
pdg-/d_;]@ = o & % ;”l " o:: ?:_gofu & = pJ =
® A 32,301,773 | 22,600,933 | 9,700,840
700
=TI 20,898,425 | 19,394,823 | 1,503,602
710
gl g 20,892,425 | 19,394,823 | 1,497,602
711
242 4] 6,256,663 | 5,661,651 595,012
200
22| 6,256,663 | 5,661,651 595,012
201
2sr2gy| 144,584 140,454 4,130
102, 166 98,036 4,130 AFS 22l

450

1,440

1,000

220

1,020




(700) AbelH % ol 8 Mg : (711) *223 20| S : (202) oY ool HR)
gl =2 §I
2 ! = =
g = Sl o o | 2 o & & o] =
202
o1t 46,978 43,714 3,264
6.608 3,344 3.264 |01 ZLh0IH]
- HER AR ARBAZ B8
< E>17,000& x 2% x 53| x 128 -<J|&>17,000& x 2H x 1 1,632
5 x 128 =
CHAE U SUSAD EEAMN ASHA(MER 1IHAR
)
<HF>17,0008 x 22 x 53] x 128-<J| H>17,000 x 1% x 2 1,632
5 x 128 =
206
T 5,455,233 | 4.879.690 | 575,543
84,859 54,991 29.868 [01 B2 bl
O +EAM A FY(UHOIZ2 S)
<HF>1,667,0002 x 122-<7| F>900,000% x 128 = 9,204
O +TAA NS DY(BY =)
<HH>1,667,0002 x 128 -<7| H>900,0008! x 128 = 9,204
O +HAM A2E 2(H01H S)
< H>020,0002 x 128-<7| H>500, 0008 x 128 = 5,040
O UER A2 BT 7
<2 F>840,0008 x 128 -<J| H>500,0008 x 128 = 4,080




2= & @ (710) SYHIE AIg o (711) 2L F 2t = @ (206) Mz HI (&2 0 &)
= A OH Il 8 =2 3| A = J x
O Jd=Z0tE0dHIO 28 & =3 7Y
<& &E>750,000& x 1070 x 50%—<2J| &>450,000& x 10JH x 50% 1,500
O BNEZTLEN BIE 7Y
<d &>600,000& x 144 x 20%-<2J| &>300,000& x 144 x 20% 840
5,290,675 4,745,000 545,675 (03 & ==l
O g5 =YY
<Z E>2233 x 65,0008 x 3652 -<I| H>200& x 653(6)5000'§ X 545,675
Hhg =
214
=8 S X Wb 510,458 498,383 12,075
346,960 336,085 10,875 (05 D] Ef 1 Xl Bl
O =ZZAMNdH HEEHE JIXM(14500) %2l
<& &>150,000 x 1450H-<I| 8>75,000& x 145CH = 10,875
163,498 162,298 1,200 |06 Al& & HISAlH
O =ZZAHEH d822 AIAE RAES
<& 8>600,000& x 43]-<J| H>600,000& x 23| = 1,200




: (700) AFPRHIE & @ (710) ¥gHl= Mg : (712) "4 2 : (206) M=l (¢ @ &)
) = ] 2] = g -
= OH (=) —
RS = of <& o o A o = 2 o &k = Il =
712
& 2=t 4,823,840 4,672,000 151,840
200
29 3| 4,823,840 4,672,000 151,840
206
K=l 4,823,840 4,672,000 151,840
4,823,840 4,672,000 151,840 |04 &=+ bl
O Zsd =322l
<3 E>413& x 32,000& x 365 -<J| E>400& x 32:,3%0(2”% X 151,840
Hhel =
713
B - 25| 2,766,041 2,109,041 657,000
200
2934l 2,747,041 2,090, 041 657,000
206
MZHl 153,270 143,270 10,000
153,270 143,270 10,000 (01 L UEtH = HI
O 2¢+& UM P2 (D=16~50mm)
<& &>30,000,000& x 1A -<J[&>20,000,000& x 14 = 10,000
214
2= 2 X W HMlid] 2,205,428 1,558,428 647,000
358,885 253,885 105,000 |01 S=AH I A Y|
O FAAHS SLEAN = HSI] 2L 105,000




D (710) gdH|I= Mg (713) B - 2 =4I 2 (214) =4S X WA Y (&t @ &8)
o | | 2 3 " - 5 =
- 2012 EHWEAN X2
<A AE>86,000,000& x 1AI—<I|H>0& = 86,000
- 2013 EEWEAN N2
<A AE>19,000,000& x 1AI-<DI|E>0& = 19,000
360,000 255,000 105,000 |02 &Atol=S2 W H I
O EHE & ], 222 A ¥ S4:91(848 M)
<A AE>17,500,000& x 169 2~ —-<J| &>17,500,000< x 1090 &~ 105,000
1,462,750 1,032,750 430,000 [05 DJ|EFR MBI

O =EAHEI 0ol4

<& &>800,000& x 3508 -<J| &E>800,000& x 100& = 200,000
O LSHY)| L USAYU 242 4232 P(IFET I
&)
<2 5>800,000 x 47574 A ~<J| H>800, 0008 x 2257 A = 200,000
O 544X N& S22 (RLE HNDAY) 30,000
- 80MMOI Gt 242 SAYX (TR= T
<2 &>300,0008 x 6007 A -<J| H>300,0002 x 50074 £ = 30,000




©(710) ¥HHIE Mg (713) i - S8l S (214) =R X DAY (&tel @ ER)
AF O /| 3 = k=] A - _
(= =
23,793 16,793 7,000 |06 Al&€&EHI KX
O F=gAEH (22EX0])==2
<& &>8,000,000 x 14/-<J[&E>1,000,000& x 14 = 7,000
75
2 6,188,385 6,094,635 93,750
3,412,653 3,403,452 9,201
3,201,553 3,192,552 9,001
225,076 195,068 30,008 |03 =SIIHAZZAE =
O g 17,847
- SAUT AR
<A E>58,800% x 2% x 2542 - <J|E>57,200& x 1&H ><|254 15,342
Q =
- =CHE) UM ¥ ExS08
<A E>58,800& x2H x 254 - <J|E>57,200& x 2H x 254 813
ol —
- +ER3 MY Y fzoE o
<A E>40,770F x 18 x 254 - <J| &E>39,660& x 1& x 254 282
ol =
- AT MY Aol
<EE>40,770& x 1H x 2544 - <J|E>39,660& x 1H x 254 282
ol =




MNIg o (751) Letaeltl S : (101) oAyl (4 - &)
3] 2 o
=) A = =
2 = o | FB < = )
- =eNsm "ARe oF
<ZBE>40,7703 x 18 x 2542 - <J|H>39,660& x 19 ><|254 282
o =

- SEHY4Y AESY L 222 M
<ZE>40,770% x 1% x 2542 ~ <I|Z>39,6608 x 18 x 254 282
o) =
- AN A
<A E>40,7703 x 1H x 2542 - <J|E>39,660& x 1H ><I 254 282
o =
- MO CAYE R YR X
< H>40,7708 x 1Y x 2542 - <I| H>30,660 x 12 x 254 282
o =
O 402
<2 H>121,878,0008 x 400%x 1/12 - <J1Z>104,031,000% 5,949
X 400% x 1/12 =
O etz 208
ST
<2 H>5,8808 x 19 x 2542 - <J| H>5,720% x 1% x 2542 41

<HE>5,880% x 18 x 2542 - <J|&E>5,720% x 18 x 254 41

l
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©(710) EddlE Mg o (751) Lerzteld] 2 : (101) o AH (¢ @ &)
AF OH /| 3 = k=] A - -
(=) i~
O =TS AHEI Mo AIEoE & £=2(6Y) 526
- A2
< E>7,6443 x 39 x 15A1 2t x 128 - <J|E>7,436& x 3% 112
x 15AI 2t x 128 =
- =549
<A E>40,7703 x6H x 522 - <J|H>39,6603 x6H x 52! 347
- @x K3 4 ¢
<ZBE>40,7703 x 69 x 102 - <J|&E>39,660& x69 x 10 67
O g222+y
<ZE>88,200& x 1¥ x 2 x 128 - <J|&>72,640& x 1Y¥ 373
x29 x 128 =
O RIAHLZZ2 A BEFIHY|
<& E>200,000& x 109¥9 x 23] - <J[&>200,000& ><9%i‘| X 2 400
§ =
O 2IAHLZZ2 X WEE X
<ZdE>50,000x 10¥ x 128 - <J|H>50,000%x9Y% x 128 = 600
101,327 122,334 A21,007 104 JI2ZtH2=zX4SE
O o=z N21,007




(700) AbHI (710) ¥H =2 MNI& @ (751) Letae|t] £ @ (101) @ AH| chel - ®Me)
T 4 3 _ s % . 5 =
- SAYUTBAKY L HEOAHLZ
<A AE>0 - <IIH>57,2002 x 19 x 2542 = A 14,529
- F55e KB E>0 - <JIAE>57,200 x 18 x 522 = N2,975
- WSR2 ENPXBES0 - <JE>57,200 x 18 x 102 NGy
- A2HQASRHES0 - <I|F>10,725R x 18 x 15A12t x 12& A 1,931
- 2HAIH| <K E>0 - <I|E>4,0008 x 19 x250L A 1,000
106
=P TP 181,100 180,900 200
6,800 6,600 200 R I AR A
O 432 (H3) <A X>6,800,000 - <J|™>6,600,000 200
200
2% 4| 2,147,856 2,016,979 130,877
201
B2 Y 128,920 101,380 27,540
113,618 89,778 23,840 AHS 2t 2] ]
AGHETAEE HAIYXZ2(1Y) 18,140
- 2T AFRA(1E 259.71m)
<A A>7,500,0009 x 13]-<I| AH>0< 7,500




2 x 108 =

(700) At (710) ¥l Mgt o (751) Letaeld] = (201) et H] &©e - JHE)
J| & 3|
AF  OH A = =
= = ol &b o o o o 2 o ; = Jl =
ASEET S H N (3S 245.29m )
<A A>6,000,000& x 13| —<J|&E>0& = ,000
Aol AMHTEA L A AHHI AFRA(3E 117m)
<A AE>4,640,000& x 13| -<J|&E>0& = ,640
=2 JIEt=2H <FAE>300,000& x 123 -<J|&>0& = ,600
AW DA MY <AFE>2 100,0008-<I H>08 = 1100
15,302 11,602 3,700 S=s29H|
2013 &A=& & 34| <HAA>3,700,000&¥ <I|&>0& = ,700
202
o d| 39,264 34,824 4,440
14,004 9,564 4,440 = L (4 b
BEHSBE L USESHRE 20 02 81 EA
<A AE>37,0008 x2H x 93] x 108 <J| &>37,000& x 2™ x 3 ,440




N

sl
)

0o
Ja

) 3

of &b R

2
m
U
b

48,154

31,954

AL EE

<& &E>222,076,000& x2.82% — <J|&>191,708,000& x

2.82% =
COFIQYRHEE
<Z &>6,263,000& x6.55% - <I|&>5,407,000& x6.55% =

<& E>222,076,000& x 2.983% - <J| &>191,708,000& x
2.983% =

<B F>222,076,000& x4.5% - <J|&>191,708,000& x 4.5%

N
0l
HI
0g!
il

<B F>222,076,000& x 1.4% — <J|&>191,708,000& x 1.4%

O JIZtMZ2Z2X J|1&2223

o
U

<Z&E>96,279,000& x2.82% - <D|§>116,875,2082/% X

3,611

856

56

906

1,367

426

2,286

A 580




(700) AFHHIS Aoy 8 Mg : (751) Lgrarelyl = ¢ (212) =2l M| ol @)
P} o =
S| 2 3 . _
= = I o o | * Z o & = p] =
CLORIQUBEE
<A E>2,715,000 % 6.55% - <I| H>3,296,000 X 6.55% = ~38
MRE R
<A >96,279,0002 x 2.983% - <J| &>116,875,000% x AB14
2.983% =
=Ll
<A H>96,279,0002 x 4.5% — <J| H>11,687,5002 x 4.5% 3,807
nggsa
<AX>96,279,0002 x 1.4% - <J| &>116,875,0002 x 1.4% ~289
214
M2 DA 99,488 6,488 93,000
99,488 6,488 93,000 [06 Al & & HI S Xl HI
o BEHUSY MY o 2 oyl
<& &>93,000,000& -<J| E>0& = 93,000
300
24 10| 627,876 674,204 |  A46,328
303
ZaS 133,449 200,015 A 66,566
133,449 200,015 66,566 (02 A THAOIS
O Lpt=
< F>A PR 133,448, 130& -<I1 8>200,015,000& = A 66,566




-

0o

Jm

(700) Ak (780) Sg&4 N& - (782) & D (758) WI|EA+-TEA el - JA>)
o o | gl 3 = = x
(= =
= a 4 o o oo | F A € E =
304
oz2=ga = 494,427 474,189 20,238
404,000 383,762 20,238
<A ZAE>404,000,0008 - <J|&> 383,762,000 = 20,238
&= Al 6,000 0 6,000
2ol 6,000 0 6,000
758
&) 6,000 6,000
6,000 6,000 = SR HEE-st=2HFS 2 A
<& 8>6,000,000&-<I|&>0& = 6,000




© (200) MHEXEXE & 1 (230) REXANMFS HN& : (234) 252 2 (401) AlEHIL LY (S - &)
= AF OH Il & = 3| A = J x
(=) x~
=8 X = 11,403,348 3,206,110 8,197,238
NEIE= 3,578,806 2,259,656 1,319,150
E= 3,335,056 2,223,756 1,111,300
401
AMEHILR Y 3,335,056 2,223,756 1,111,300
3,335,056 2,223,756 1,111,300 [01 Al & H|
O S=ti=2 WHSA 350,000
- 295 deldH 22(D=150mm, L=165m)
<Z &>400,000& x 171m—<I| E>0& = 68,400
- S8 2F¥FRA =H(0=100~500mm, L=440m)
<& &>900,000& x 220m+380,000& x 220m-<J| H>0& = 281,600
O ALYE AFRE =T AIE HSAMH 172,000
- Al H| <Z&8>172,000,000& x 1A -<I|&>0&F = 172,000
O Z2dis EolAl=8 =22 &S A
<& &8>60,000,000& x 1A -<I|H>0& = 60,000
O EAMsd 300,000




:(200) MHEEXSE & . (230) |REAHES Mgt @ (234) &2 2 (401) AlEHILEHH (¢ @ &)
s =2 J| S| o 3 _
i AF oM = AF %
gpk"?:’ = o & of AF oH = 3 9 = = /| ==
- gdts =B0IHE 2 50 7Y S8 AE29Y L=90.5km
<Zd &>300,000,000& x 1A -<IJ|H>0& = 300,000
O &5 25 2s5NY 290y ZAHY ZIi wH
<Zd &>20,000,000& x 1A -<I| &> = 20,000
O a3 X HY 23 At
<d8>15,300,000& x 1A <I|H>0& = 15,300
O F)M1x=&X £=24XZ2A
<& &>100,000,000& x 1A -<I|E>0& = 100,000
O EZ2WM=XNAE) 2AIE CCTV EXISA
<Z &>34,000,000& x 1A -<J|&E>0& = 34,000
O LS NE =D JATZ =2 AE A
<A AE>50,000,000& x 1A <I|E>0& = 50,000
O LS 233 U EXSA
<& E8>10,000,000& x 1A -<I| H>0& = 10,000




& 1 (230) REXNAMFS NIgt @ (236) Xt&F28BH3 = ¢ (405) RAFHSHIS (Etel @ &)
= AF OH /| g = 3| Ab = A
(=) =
17,100 0 17,100
17,100 0 17,100
17,100 0 17,100 |01 XH&tH =l
O s+22 HAB 2y ¢
<Z & 17,100,000& x 1A -<I| E>0& = 17,100
226,650 35,900 190,750
226,650 35,900 190,750
226,650 35,900 190,750 {01 K&HF SHI
O SEHE=Z AMRY SAI 2
<Z&>4,500,000& x 1CH-<J[E>0& = 4,500
O SEHHLE A2 duy)] 2
<Z&E>4,000,000& x 1CH-<I E>0& = 4,000
O =ZIAME HIIEZAH +<
<& &>1,950,000& x 1LH-<I| E>0& = 1,950
O +EAANME AZYLE AEE P
<Z&>1,080,000& x 1CH-<I| &E>0& = 1,080




=2 (200) AMHEXHXE & 1 (230) REXANMFS Mg (237) 22J128I2 = (405) XH&HFSHIS o - JJH>)
s =2 J| S| o 3 _
= OH (=) -
= gkng} = ol & o A o = 2 o &F = Il =
O =Z&ZANE MAZO0OtEdA I 24D
<A &E>179,220,000& x 1H-<J| &>0& = 179,220
800
Ol "l Bl 7,824,542 946,454 6,878,088
801
Ol "1 8| 7,824,542 946,454 6,878,088
801
&:IKs]is]l 7,824,542 946,454 6,878,088
7,824,542 946,454 6,878,088 |O oidlgl 22l <B E>7,824,542 ,000-<2J| 8>946,454,000 = 6,878,088




